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Which of the following pair (Political Activist —

Related Princely state) is not correctly

matched?

(A) Mithalal Vyas — Jaisalmer

(B) Bhupendranath Trivedi — Kota

(C) Kishanlal Joshi — Bharatpur

(D) Pandit Harinarayan Sharma — Alwar

Two statements are given below, one labelled

as Assertion (A) and the other as Reason (R) —

Assertion (A) : Dadabhai Naoroji founded East

India Association in London.
Reason (R) : He wanted to influence the British
Public Opinion.

In the context of the above two statements,

which one of the following is correct?

(A) (A) is true but (R) is false

(B) (R) is true but (A) is false

(C) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(D) Both (A) and (R) are true and (R) is correct
explanation of (A)

Who was the Ruler of Bikaner who supported
the British through his army for suppressing
Revolt of 18577

(A) Sardar Singh (B) Ratan Singh

(C) Ganga Singh (D) Dungar Singh
Under whose leadership, thousands of women
participated in the conference held at Katrathal
on 25™ April, 1934?
(A) Rama Devi

(C) Kishori Devi

(B) Uttama Devi
(D) Durga Devi

Who among the following leader was in the
Independence Movement in Bharatpur state?

(A) Tikaram Paliwal  (B) Kishan Lal Joshi

(C) Mangal Singh (D) Shobha Ram
Sharma

Who brought about a compromise between

Muslim League and Congress, in 19167

(A) Annie Besant (B) Surendranath

Banerjee

(C) Bal Gangadhar (D) Gopal Krishna

Tilak Gokhale

frafofed & @ &9 a1 g™ [oHIs

%FI?W — Hafta Ramach =) gafera &1

(A) MSTelTel AT — STFeTHR

(B) U1y B3t — drer

(RENERICECINIE RN

(D) ufed BRARMIO ¥HT — TR

A & BYF AU Y €, P @I AMHUF (A)

3R TN B BRI (R) HET AT & —

MBI (A): TS ARG F oed § s¥e
sfear vARge &Y e 3 |

R (R): 98 fafesr S=9a & waifad &=er

FrEd o |

SWRIFT &1 I & Gaw H, =feRaa & 9

BT U BT 27

(A) (A) T & offdd (R) 3T & E

(B) (R) T 2 <ifhT (A) 39T &

(C) SFI (A) 3R (R) ¥ & olfdd (R), (A) &

T8 AR T8l HRAT B
(D) <1 (A) 3R (R) I & IR (R), (A) BT 2T
GRYT HRAT &
1857 I HifT Bl TaM & foly, dIdR & fod

MDA IS BT AT FergdT ?

(A) IR g (B) a1 g

() T Rig (D) g f¥ig

e e #, 25 e, 1934, BT Hedd
AT faeTet Afgel T e § goTRI Afgeret
= 9T forar?

(A) <7 <Y (B) I<TAT <Y

(C) ey (D) It <

WRAR T & @Al AR d = 3
DI Uep Il 2A?

(A) SHRM Tleitard (B) fhed ot el

(C) HreiRig e (D) =T ™™

1916 H, R T IR BT & dra FHSI
P PRamr or?
(A) Tt S¥ic

(C) g1t TMMeR foreted (D) YTl ST e

(B) GR==AT FI|
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7. Which leader of the Marwar Lok Parishad died 7+ Sid H 3 & RITH @ s<dTd & BRI
in June 19, 1942 due to hunger strike against ARarE ol gRye & fha Sar &l ¥eg 19 S,
injustice in Jail? 1942 .ﬁ .

(A) Ranchod Das (B) Anand Raj Surana 9 & _
Gattani (A) Yorerser™d gl (B) 3fHq RISl GRION
C D i ) )
(C) E:anwar Lal (D) Bal Mukund Bissa (C) weR oIet I (D) qret FHa o
arma 3
8. Morley — Minto reforms were aimed at — 8. Hicl — ATl GuRl &7 Ieeg o —
(1) Promotion of education (1) f3eTT &7 9eTd
(2) Reserved seats in Provincial Assembly for (2) vicr foum=ayr & sforal @ fou i
Dalits e
(3) Separate electorates for Muslims (3) T & oy rer Fafees Jed
(4) Increase in the number of members in (4) d=<ra e uRve # Wewl & & |
Legislative Council at Centre CrARSE
Select the correct answer from the code given My U e H 9 98 SR B A
below - BT —
(A) 1,2 and 3 (B) Only 2 (A) 1,27d3 (B) ®aaT 2
(C) only 3 (D) 1,2,3and 4 (C) daaT 3 (D) 1,2,37d 4

9. Who among the following was the author of 9 SIHEPR &I YSRGSl Y&Id & ol@d 1+ H
the book ‘Jaisalmer Ka Gundaraj’? P A?

(A) Sagarmal Gopa (B) Hiralal Shastri (A) ATTRAS T (B) BRI I
(C) Jai Narayan Vyas (D) Manikya Lal Verma (C) SIo-IR™vT <9 (D) HIfOTaRIeATed AT

10.  Which among the following is related to Lord ~ 10- f9=feiRad # | w1 <is dod I Feod
Curzon? g7
(A) Indian Council Act, 1892 E (A) vReg yRye rfaf<gH, 1892
(B) Universities Act, 1920 (B) fawafdemera srfaif+d, 1920
(C) Partition of Bengal in 1905 (C) 1905 ®T &7t BT faHToTT
(D) Government of India Act, 1909 (D) YRT WRPBR IFfAFTH, 1909

1. Saint  Haridas was the founder of 1. Fd BRENT s TS B
..................................... sect RIS o |
(A) Nimbarka (B) Alakhiya (A) fe=Te (B) areTfRaar
(C) Niranjani (D) Ramsnehi (C) =S+ (D) TS

12. Who among the following is not a master of 12 398 ¥ &9 #fs TRIA # Rigew 78! 87
Maand singing?

(A) Allah Jilai Bai (B) Gavari Bai (A) sreetrs forems ate (B) Tl arg
(C) Gulabo (D) Banno Begam (C) Tefrs (D) g1 T

13.  |n which of the following tribes, the marriages 13- @O vd AR dffrn faarg, /=1 & 49 &4
named Tanna and Mor Bandhiya are ST 3 vafera &7
prevalent? A) v B
(A) Sansi (B) Meena A) ®)

(€) Bhil (D) Garasia (€) et (B) TrIfRF
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14. |n which of the following, the archaeological 14 f=foRed # 4, dig g9 | AT YRIAT D
' i ? . .
e St e o
Nagar) (Nagari) (A) R (faRre TR)  (B) AreafiyaT (A7)
oy {ren © e () ©) ¥ (@)
15. Where is Lok Kala Mandir located? 15. i el Afax wal Rerd 87 E
(A) Jodhpur (B) Kota (A) SEgR (B) PicT
(C) udaipur (D) Ajmer (C) TR (D) aroTHR
16.  The author of ‘Beli Krishan RukmaniRi’, wasthe 16 ‘gl fheq Swaoh & & w@fdr, &g sa
court poet of which ruler? P AR BT o7
(A) Vigraharaja IV (B) Maharana Kumbha (A) farevrst =gl (B) HERTUT T
(C) Akbar (D) Shah Jahan (C) IJrpaR (WNIENE
17. Gopal Saini is related to which handicraft of 17 U A< BT AFET ISRATT DI fhd gIBT
Rajasthan? I 87
(A) Terracotta (B) Blue Pottery (A) SRTPICT (B) &g dicdl
(C) Wood Art (D) Theva Art (C) BT Bl (D) T Pl
18. |n Rajasthan, where is the first Tribal Child 18- XTSRRI &1 Ygell SIS dTeld ald] ABIaH!
Hockey Academy established? Pal WRIfd &) T3 27
(A) Dungarpur (B) Kota (A) SRR 4 (B) ®ler #
(C) Udaipur (D) Bhilwara (C) TR ) (D) HorarsT &
19. According to Col. Tod, Meena’s originally 19 F+dl Sfs & AR, HIOM3 BT J Fard =
belong to which of these places? =1 8§ 9 @ 9 e?
(A) Abu Mountain (B) Kali Khoh (A) 31T gdTHTT (B) FTell WIE gdaHTell
ranges Mountain ranges
(C) Mukundara Hills (D) Kali Ghati (C) Hap<xT Uad 4ol (D) HIell |l YT
Mountain ranges
20. Who has built the Shiv Temple of Badoli  20- dSIel (@re) & @ dfex &1 AT favae
(Kota)? HIATAT?
(A) Toramana (B) Mihirkula (A) TRATT (B) fafexayet
(C) Bhoj Parmar (D) Bhoj Pratihar (C) IrsT IRAR (D) 97 UferR
21. “|lla na deni, aapni, halriya hulraaye. 21. g 9 QOfl, STuell, BTARAT oM |
Poot sikhave palne, maran badai maaye.” qd RIgTd greTor, AR 918 A Il
The above lines are taken from which book? Sydad dftedl fea et & o T 87
(A) Vansh Bhaskar (B) Veer Satsai (A) G397 HEHY (B) IR AawE
(C) Kanhad-de- (D) Prithviraj Raso (C) BrEss e (D) gedRTST RI=AT
Prabandh
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22. Match the following — 22. gafora sIfvTg —
Folk Deity Birth place e qadl = R
(1) Gogaji (i) Santhu (1) TS (i) m2L
(2) Pabuiji (ii) Dadreva " (2) Tgsit (ii) Texan
(3) Hadbuiji (iii) Kohu : BESES (iii) PTg.
(4) Fattaji (iv) Bhundol (4) TS (iv) Tt
Code - fT —
(A) 1-i, 2-ii, 3-iii, 4-iv  (B) 1-ii, 2-iii, 3-iv, 4-i (A) 1-i, 2-ii, 3-iii, 4-iv (B 1-ii, 2-iii, 3-iv, 4-i
(C) 1-iv, 2-ii, 3-iii, 4-i (D) 1-iii, 2-i, 3-ii, 4-iv (C) 1-iv, 2-ii, 3-iii, 4-i (D) 1-iii, 2-i, 3-ii, 4-iv
23.  Which (Cattle fair and District) is not correctly 23. HE-—T (tl"él HelT 3R STeT) &l Qjﬁl ofd &l
matched? g7
(A) Chandrabhaga Cattle Fair — Jhalawar (A) T4 UHAT — SITATATS
(B) Gogamedi Cattle Fair — Hanumangarh (B) TRTHS! UYHAT — BSIATTIG
(C) Shivratri Cattle Fair — Sawai Madhopur (C) Rra=If3 ugHAAT — HaTg HAEIYR
(D) Ramdev Cattle Fair — Nagaur (D) IFGT YYHAT — ANIR
24.  \Which writer named the books after the name 24 &9 T=/@R 9 9 T=i &1 9 dIHFR
of Bikaner Maharaja Anoop Singh? HERTST 3 Rig © =9 WX GT oO7?
(A) Bhav Bhatta (B) Lochan (A) g (B) <
(C) Hriday Narayan (D) Pundrik Vitthal e
Dev (C) gg¥ AR g (D) yusRas faga
25.  Which of the following statement is not true 25 f=foIRad & & B AT HAT BTG AR
about ‘Kalibangan Civilization’? P fawg & @& 781 87
(A) Camel bones have been discovered at (A) BIlldTT § S @) Al & g for
Kalibangan. =
(B) Kalibangan has provided evidence of the (B) SIS & Wer oifbd 5y U U @
flrét_rec.orded e.arthquake. _ . e g ¥
(C) Luigi Pio Tessitori, an Italian Indologist ©) PN NN
found the Kalibangan site. DI Yol U Sdleld] gSiclllviNe
(D) Pre Harappan fire altars have been g foar SRk ﬁaﬁ | .
discovered. (D) ute; W AfFAfeal & amed el
26. \Who is famous with the name of Narsingh in  26. o= # RS & 99 9 URIg & —
Rajasthan? (A) Fa TFeROS (B) B3 geoll
(A) Sant Ramcharanji (B) Kavi Durlabhji o) D) < N
(C) Sant Charandasji (D) Sant Rajjab ji (©) 5 (B) 5
27.  Which song of goddess was sung by the 27- 'GEhc SIFT 9% Ud AR 9T I+ & AT
‘Kanfate Jogi’ with Damru and Sarangi? frd <t @ fiq Ta 8°
(A) Jeen Mata (B) Nagnechi Mata (A) STroT AT (B) ATTOTAT AT
(C) Sheetala Mata (D) Sakrai Mata (C) it Arar (D) FHRTI AT
28. \What is the name of the cremation site of 28 HaTE NI ORM & IFAUNE WIS HI A FT
Mewar royal family? 27
(A) Kaga (B) Gatore (A) FTT (B) R
(C) Mahasatya (D) Bada Bagh (C) FerT (D) g7 &7
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29.  Which of the following region of Rajputanawas ~ 29- f=feiRad H | IoqaHT & 69 &89 W) b
ruled by the Varik dynasty? CEIGINIRE I Tsers 1 Y
(A) Badnaur (B) Bayana (A) SR (B) sam=T
(C) Alwar (D) Ajmer (C) 3rcTay (D) 31STHR
30.  Which one of the following (Folk drama - Place) ~ 30- fy=foiRad # & &9 &1 (e Acd — w=IF)
is not matched correctly? Ao T8l 87
(A) Nautanki — Bharatpur, Dholpur (A) HIEhT — WRAYR, ElelyR
(B) Tamasha — Jaipur (B) HIRT — STAgR E
(C) Turra Kalangi — Marwar (C) T Bt — ARATS
(D) Rammat — Bikaner, Jaisalmer (D) IHT — dIPTR, SR
31. Ognia, Angotia, Surliya ornaments are 31 oI, Sfifedr, QRfo™T, Mol ys+ Wi
worn - g -
(A) on head (B) on wrist (A) RR R (B) lls TR
(C) in ears (D) on feet (C) &= H (D) IR} &
32.  When did Maharana Pratap make Chavand his ~ 32- #gRIUTT Yamd = @1GUs P AU IS Hd
capital? ERIRIIN
(A) 1580 (B) 1576 (A) 1580 (B) 1576
(C) 1582 (D) 1585 (C) 1582 (D) 1585
33. To which age does the artistic splendour of 33 IMYNT T INIRIG & HoAHS avd b4
Abhaneri and Rajoregarh belong? Pl A TR B°
(A) Gurjar - Pratihar ~ (B) Chauhan (A) TGR — TfiER (B) =g
(C) Guhil - Sisodia (D) Rathore (C) et — fyifear (D) Sre
34. Who wrote the book named ‘Hammir Hath’? 34. gEiR 83 AM® U e foram?
(A) Jodhraj (B) Chandrashekhar (A) STERTST (B) TR
(C) Dalpat (D) Keshavdev (C) gotud (D) Beraea
35.  From the following battles, choose the correct 35 Fr=faRad Jgi ¥ A, I9d s o & a9 &
order from first to last according to the year AR Ugel | MR T el HH Bl Y-
{1 batti of Gxgron () T o g
(2) Battle of Sarangpur (2) S
(3) Battle of Bayana (3) 9T BT g
(4) Battle of Mavli (4) HTa BT Jg
Choose the correct option - |l fAwed g+ —
(A) 2,4,3,1 (B) 2,1,3,4 (A) 2,4,3,1 (B) 2,1,3,4
(C)1,2,3,4 (D) 1,3,2,4 (C)1,2,3,4 (D) 1,3,2,4
36. The first UDAY (Utkrisht Double Decker 36 TH Io¥ (ISP Sacl SR dldTnierd ATH)
Air-Conditioned Yatri) Express train runs TR o fhad 99 gerdt 87
between - (A) feelt 3R HIcAam!
(A) Delhi and Kalka (B) ST SR PRITeR
(B) Bengaluru and Coimbatore (C) =T¢ aiR FremraTEH
(C) Chennai and Visakhapatnam
(D) Visakhapatnam and Vijayawada (D) faemramIE T SR fas S
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37.  Malaj Khand is associated with which mineral 37 ol @vs o WS ST 4 Gefed
production? g7
(A) Lignite (B) Copper (A) fer=rge (B) e
(C) Iron Ore (D) Diamond (C) &g 3I® (D) EIR1
38. National Bank for Agriculture and Rural 38 < Y &R UV fawN d@ ((AEE) @
Development (NABARD) was established on - EZIEEI ‘§‘:§ ofi—
(A) 12th)uly, 1986 (B) 12t July, 1978 (R) 12 Fal1g, 1986 BT (B) 12 TS, 1978 BT
(C) 12t July, 1982 (D) 12t July, 1992 (C) 12 918, 1982 &1 (D) 12 G[eTS, 1992 BT
39.  Which among the following (State — Coal 39 fy=fiRad # W AT (9 — ST &1F)
region) is correctly matched? el gﬁrﬁﬁ 2?
(A) Madhya Pradesh — (B) Odisha — (A) FWSY — TS (B) S — TRAR
Ramgarh Sambalpur : :
(C) West Bengal — (D) Jharkhand — (C) et st — (B) RS — R
g
Betul Sarguja a?j\?[
40. Which one of the following is the correct  40- HRA H HIH! IAEH Idi BT f=fRad &
descending order of the coffee producin
states of Ir?dia? i ° | W e g3 H I 87
(A) Karn.ataka > Kerala > Andhra Pradesh > (A) BTCH > BT > A T2 > ARGFTE
Tamil Nadu N
(B) Karnataka > Tamil Nadu > Kerala > Andhra (B) Priicdh > df¥eTg > BRal > 3l U39
Pradesh
(C) Karnataka > Kerala > Tamil Nadu > Andhra (C) FIlc® > @Rl > AHAATg > AT U
Pradesh
(D) Andhra Pradesh > Tamil Nadu > Kerala > (D) ey yer > Mg > PRl > Briicd
Karnataka
41.  vedanthangal Bird Sanctuary is situated at - . gerIiTe Uefll raRuy Rerd & —
(A) Karnataka (B) Kerala (A) ®ATedh | (B) ®veT |
(C) Tamil Nadu (D) Andhra Pradesh (C) Tferrg # (D) aTier ycer H
42. As on August 2022, how many declared  42- 3FTRAT 2022 &1 R & FTAR, 9RA H fhait
wetlands are there in India? oI ams 4T 87
(A) 72 (B) 75 s (A) 72 (B) 75
(C) 48 (D) 41 (C) 48 (D) 41
43. Which type of forests are found in western  43. U= Gc & uf¥aH Tl R fH9 UeR &
slopes of the Western Ghat? ?:; EUNESIN ®
(A) Alpine (B) Savanna Eﬁ . W
(C) Tropical Evergreen (D) Monsoon © o ®) 1
AqldelR
44. \Which state of India has highest potentiality of 44 9Rd & fbd ¥ § Uad ol & AdIEd
wind energy? eraeT faemm= 87
(A) Gujarat (B) Tamil Nadu (A) ISRIT (B) dffrerrg
(C) Rajasthan (D) Karnataka (C) ToTeRITT (D) Ble®
45.  On which river is the Salal Project located? 45. Hofrel RIS fhd 94 R Rerg 87
(A) Chenab (B) Ravi (A) foTe (B) =Tt
(C) vyas (D) Jhelum (C) = (D) 3ot
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46. Ratanada airport provides services to - 46. ;EIFH@T BATSITST MU VARl SUTES BRI
(A) Jodhpur (B) Kota g
(C) Bikaner (D) udai (8) SR & wrer 1
pur (C) frHTR (D) ITIPR BT
47.  As per Census — 2011, the district having least ~ 47-  SRTUMTI—2011 & AR, oA H 579 el
rural sex ratio in Rajasthan was - H grAoT fSRTUTT Fad &4 o, 98 © —
(A) Jaisalmer (B) Dholpur (A) SIFTHR (B) elielgR
(C) Tonk (D) Barmer (C) i (D) qre®R
48. The construction of Bisalpur Dam was 48 AR dg H FET Y T H ol
completed in which year? §34T?
(A) 1989 (B) 1992 (A) 1989 (B) 1992
(C) 1996 (D) 1999 (C) 1996 (D) 1999
49. \Which river basin of Rajasthan is in second 49 Td SUGEAl & MR W HIF AT Fal IR
position in terms of water availability? o # fgdi == W) 87
(A) Banas Basin (B) Mahi Basin (A) g7 91 (B) w81 IR
(C) Luni Basin (D) Sabarmati Basin (C) <1 IR (D) TR IR
50. Assertion (A): Teak trees are mostly found in 50 HeF (A): YOI & Sf&ON &=l § AN &
southern part of Rajasthan. g8t 3JfeH U S B |
Reason (R): The teak can bear extreme cold HAF (R) : AT I1fSd TSl G GTell e B
and frost. qrar 2 |
(A) Both (A) and (R) are true but (R) is not the (A) (A) R (R) TFIT BT & fbd (R), (A) BT W&
correct explanation of (A) ARAT 8] ©
(B) (A) is false but (R) is true (B) (A) oI ® ifhT (R) W8T ©
(C) (A) is true but (R) is false (C) (A) & & ifdhd (R) Terd &
(D) Both (A) and (R) are true and (R) is the (D) (A) 3R (R) ST 2T 8 TG (R), (A) & T2
correct explanation of (A) RET &
51. |n which part of Rajasthan the ‘Entisols’ soil is ~ 51- o™ & fd 9RT H QodIed’ &l urly
found? STl 87
(A) Western (B) Southern (A) gfd=eT (B) feron
(C) South Eastern (D) Eastern (C) <feror i (D)
52. Which (Mineral — Mining Area) is not correctly ~ 52. &9 &1 (@i o—@= &) gaferd T8l 87
matched? _ (A) ST — FTSTAT—BHIER]
(A) Dolomlte - BaJIa—Ka.bra (B) TeiRTee — Aie-a—ural E
(B) Fluorite - Mando-Ki-Pal
(C) Lead & Zinc - Rampura-Agucha © W %ﬁ_\’ STAT — AR
(D) Rock phosphate - Barodia (D) Jfp BB — RIS
53.  Akal Wood Fossil Park is located in which of the 53 3fTdhal &1 Siiared e A # ¥ fhd el
following district? H Rera 27
(A) Jaisalmer (B) Bundi (A) SRR (B) g1
(C) Pali (D) Rajsamand (C) gret (D) NroTEHS
54. Giral lignite thermal power project is located in 94 fiRar ferm=rse am wifda aRasn fos Tia &
which village? Rera 87
(A) Samdari (Barmer) (B) Ramsar (Ajmer) (A) TS (ATHR) (B) MR (30THR)
(C) Thumbli Village (D) Sivana (Jalore) (©) o T (aTeR) (D) R (i)
(Barmer)
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55.  As per Koppen'’s climate classification, which 55 @I & SeTaRy SFMIHRVT & ATAR, SRYR AR
type of climate is found in Dungarpur and graarel foral # f6d UdHR &I STeldr] uTg ST
Banswara district? 27
(A) BWhw (B) BShw (A) BWhw (B) BShw
(C) cwg (D) Aw (C) cwg (D) Aw

56. From which tree ‘Katha’ is extracted in 56 IR H A g7 ¥ ‘de’ Mdbrar S
Rajasthan? g7
(A) Khejri (B) Palas (A) TS (B) getre
(C) Khair (D) Dhok (C) ¥R (D) &

57. Which among the following (River — Associated ~ 57- fa=feiRad & & wi=ar (7€ — rafRra Rrem)
District) is not correctly matched? ?jﬁff%lﬁ el '7
(A) Dai - Ajmer (B) Banganga - Jaipur (A) T — 3R (B) SO — SIAYR
(C) Kakni - Jaisalmer (D) Vatrak - Banswara (C) ®BTHUT — SR (D) ar5d — iFdrSI

58. The major producing region of soybean in 58 IGRIE # AWM SARE U@ &F
Rajasthan is - g -

(A) Semi-Arid (B) Hadoti Plateau (A) 31g I=h (B) BTl USR
(C) Mahi Basin (D) Eastern Plains (C) =rET IR (D) gdf #e=

59.  Which are the highest population districts of ~ 59- 2011 @I SIOFT & AR, IOAH &
Rajasthan, according to Census - 2011 Aatde STHAEET arel 5ol § — (3TaRIE! &)
(Descending order)? (A) W—W@—W—?ﬂ'ﬁ'\’

(A) Jaipur-Jodhpur-Alwar-Nagaur E (B) W_Gﬁgw_w_w
(B) Jaipur-Jodhpur-Nagaur-Alwar .

_ (C) TTIYR—TTIPR—AAR—ATIR
(C) Jodhpur-Jaipur-Alwar-Nagaur
(D) Alwar-Jaipur-Nagaur-Jodhpur (D) SFETR—STAGR—TR—ITEGR

60. Where in Rajasthan oil refinery is being  60- oI H 3ifgel RBTIAT &1 WRIUAT Hal B
established? ST 38T 87
(A) Bikaner (B) Jalore (A) fiomTR (B) STk
(C) Jaisalmer (D) Barmer (C) TR (D) qre®R

61.  When was President Rule imposed in Rajasthan 61 fdur &1 g1a # RO 9800 & BRU
due to unclear majority in the Assembly JORATE H YT IEH hd R—T I
Elections? oqT?

(A) 1977 (B) 1980 (A) 1977 (B) 1980
(C) 1967 (D) 1992 (C) 1967 (D) 1992

62. Who among the following is not in the 62 ISR g AMAIEGR AN & 3Nedel T4
meerhors afthe Rojasthan Stote Hmon Rights T 1 T SRy e § i
Commission? i anfiver Tl een 7
(A) Governor (B) Chief Minister (A) 1591t (B) geg+=i
(C) Home Minister (D) Leader of the (C) e = (D) Ruer &7 ar

Opposition
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63.  Which of the following statement is incorrect? ~ 63. fHifdha & & HIAT HUF T 87
(A) Panchayat Extension to Scheduled A : .
anchayat Ex en5|9n o Scheduled ret?] (A) & &5 ¥ (w PESA)
(PESA) Act was implemented on 24
December 1996. ST 24 fEHR, 1996 BT <A1 G|
(B) The PESA Act was enacted on the (B) U (PESA) srfarfd, faeiy Ris yRar
recommendation of Dileep Singh Bhuria SIBISECH] Sijﬁl'w O 1T AT |
Committee. (C) =T (PESA) A, I -5 & 9 T
(C) PESA Act is applied to 9 states of Schedule § o 2
5.
(D) AfSgH BT SRR NIGIR)
(D) One of the objectives of the Act is to bl . e,ﬁw P N
protect and conserve the traditions and Mdatdl o AXERIST %d B -
customs of tribal communities. T U HRETT BT & |
64. \When was the Revenue Board established in 64 IORIM H IOG AvSd &I RIUAT  6d
Rajasthan? gs°?
(A) 1947 (B) 1949 (A) 1947 (B) 1949 E
(C) 1951 (D) 1955 (C) 1951 (D) 1955
65. |dentify the Chairman of the Rajasthan State 65 <SRRI oY AMGAIRIGR SMRANT & U 31eeT
Human Rights Commission, who also served as a1 kg FIRTY S SToaq |ORed @
the Judge of the Supreme Court of India?
rareieT ?
(A) Kanta Kumari (B) Gopal Krishna Vyas _ g
Bhatnagar (A) BidT FART HSANR (B) TUTT HWT AT
C i i D
(C) Saiyed Saghir (D) Négendra Kumar (€) o W argFe (D) s FAR O
Ahmad Jain
66. Which of the following statement is not true? 66. fa=foRad & PIFNT HUF T 87
(A) Rajasthan can have 30 Ministers including () TSR H gEIHAT dfgd 30 HA B ol
the Chief Minister. =4
(B) All the Ministers of Rajasthan are Cabinet (B) o @ |t /41 Bfare 59 &
Ministers. . .
nisters (C) Bfire ¥ Heawl fpmT B ¥
(C) Cabinet have important departments. o N e
. L (D) ISR WRBR H qaA H By W SUHAN
(D) Presently there is no Deputy Minister in the _
Government of Rajasthan. T &
67. Which of the following statement is not 67- fo=faRed & ¥ HT T HoH A T8I
true? g7
(A) The post of District Collector was created (A) | 1772 #, AR RS gRT RTel detaex
by Warren Hastings in 1772. B yg giord fbar |
(B) In district, the District Collector functions as (B) a1 ¥, el woldex ¥ WIEIBId
Chief Protocol Officer. RPN BT BT BT |
C . . . . i i
(C) In Article 233 of the Indian Constitution, (©) ¥R B TR B :ﬂ?@_q, 233 § Rrem
the .word ‘District Judge’ has been _ fror wree @1 SoarE A TR
mentioned. D) N o
NTHY SIBIICS N SN
(D) Ramsay MacDonald called the Collector as A sHle detd e
the Institutional Charisma. AT DT T |
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68.

High Court of Rajasthan was inaugurated by
Rajpramukh Sawai Mansingh on -

(A) August 29t", 1949 (B) January 28, 1950
(C) March 27th, 1951 (D) January 28%, 1952

68.

NSESIEIESEC M 1 o L O BSEAG) S BN T 12 5
AT TR GTRTeeeeeeeeeeeeeeeeeeee ¥ fhar
T o7 |

(A) 29 3T, 1949
(C) 27 914, 1951

(B) 28 ST9axI, 1950
(D) 28 ST9aNT, 1952

69. Who among the following was not elected in ~ 69- F=IfeTRId H ¥ DI, ISRAT H ISTFAT G
Rajya Sabha elections 2022 in Rajasthan? 2022 ¥ fyaifa =t B3I oAT?
(A) Sh. Ghanshyam  (B) Sh. Pramod kumar (A) 5 e Rad (B) 57 wHIE HAR
Tiwari
(C) Sh. Mukul (D) Sh. Subhash (© = WF" ! (D) 51 g =T
Balkrishna Wasnik Chandra
70.  Which of the following pair is not correctly — 70- f=feiRad H | ST I GAford T8l &7
matched? : i
(A) 243 R — Mention of the composition of (A) 243 R — TR AP B IR kil
Municipal Corporations Soolg
(B) 243 S — Constitution and composition of
Wards Committees (B) 243 s — 918 AfAft &1 Tod 9 AR
(C) 243 ?E - Composition of Metropolitan (C) 243 ZE — TR ArSrT RRY B TS
Planning Committee
(D) 243 zC - Composition of District Planning (D) 243 zC — STaT Iro=T AT &1 TSH
Committee
71. Human Poverty Index (HPI) measures the  71- HMg TRl Yadie (TAULNE.) 999 B G
deprivation as a composite index of - W b wY H JUAT © —
(A) longevity, nutrition and knowledge (A) ﬁa‘rg qIyor 3R S
(B) knowledge, basic needs and standard of (B) ST, gFIATEY TRl 3R Wi &R
fving _ N (C) <y, & 3R Sigd W
(C) longevity, knowledge and standard of living
(D) longevity, standard of living and sanitation (D) <Teiy, Sfad ¥R SR @ed
72.  planning Commission has been replaced by  72- JISHT AN &I, Ry U I=eH # 9, fhas
which of the given Institution? gRT yforenfua fasar Tam 87
(A) NITI Aayog (A) ifer mamT
(B) Finance Commission of India (B) YRd &7 fa< smamT E
(C) Investment Commission of India (C) YRT &7 faer ST
(D) National Development Council (D) f farr uRve
73. Consider the following statements regarding  73- #Idf 3R WdT &R Fcdd (SIL.UA.SLUA) & Hder
the Goods and Services Tax Network (GSTN) — 4 fa=forfRag sl W faaR &Y —
(i) It is a non-government, private limited (i) I8 Th IR RGN, Uigde fafies Hul 2 |
company. (i) I8 TP TR o™ HUl 2 |
(ii) It is a not for profit company. M RU W @ BT W B FE IR
Select the correct answer using the code given ?ﬁY B e
below -
(A) (i) only (B) (i) only (A) H (i) (B) 3 (ii)
(C) Both (i) and (i) (D) Neither (i) nor (ii (C) < (i) MR (i) (P) =T T (i) 1 & (i)
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74. Which one of the following is Not included in ~ 74- fr=ifaiRad # & 1 IR 3refereRen & $iY
the Agriculture and Allied Services of Indian IR Fag Jarali § aftafera 8 27
Economy? - (A) IR (B) el T
(A) Forestry (B) Food Processing _

(C) Fishery (D) Logging (trees) (C) w7 (D) deTg (qelt o)

75.  An objective of the National Food Security  75- ITSEIY el GReTl A2 6T b eI (Y B
Mission is to increase the production of certain P IATET ¥ gfeg BT §, ST © —
crops, which are - o . ~
(A) rice, wheat, pulses and oil seeds (A) e, T, =Tet SR feTe
(B) rice and wheat (B) A1t 3R ﬁé
(C) rice, wheat, pulses, oil seeds and (C) CICKH ﬁé QIC'{, i?lﬂS"I 3ﬁ7{ {-ﬁ&,ﬂﬁ

vegetables - :
(D) rice, wheat and pulses (D) =1aet, I SR <Ted

76.  Which country got the maximum export from  76. fo=ifed & & f&w Tor 7 99 2021-22 H 9RqT
India in the year 2021-22? ¥ Aaigs g feg?

(A) China (B) USA (A) 9= (B) 3.u4d.T.
(C) UAE (D) Brazil (C) gus. (D) wTSiTeT

77. As per Census 2011, which state of India has ~ 77- TIVAT 2011 & AR, YRd & (b9 I
the highest sex ratio? 1 feRTIguTd et 872
(A) Kerala (B) Tamil Nadu (A) A (B) dfAeTTg
(C) Chhattisgarh (D) Andhra Pradesh (C) BTG (D) 3rfey wo9r

78. With reference to Indian Economy, consider 78 WR 2fayawe @ Hed H, 9 W fourR
the following — PG —

(i) Public debt " (i) |TeSTe ST

(i) Public revenue E (i) ATdST R IO

(iii) Open market operations (iii) Gl IR BT g

(iv) Bank rate (iv) 9% &

Which of the above is/are component/s of IWRIFT & A DA W/@ Aifedr AT & gcad
Monetary Policy? g/8°

(A) (i) Only (B) (ii) Only (A) Bad (i) (B) adt (ii)

(C) (i), (ii) and (iii) (D) (iii) and (iv) (C) (i), (ii) 3R (iii) (D) (iii) 3R (iv)

79.  Fiscal Policy in India is formulated by - 79. WRA H Yoo AT fPEs gRT AR @)

(A) The Finance Ministry ST 27 _

(B) The Planning Commission EQ; 22:” GlTCﬂ'lTE

O The nevee s e R i R
(D) =< R9d d&

80. What is not correct with respect to  80- SNUN.EL UEHM TR B HdY H T A8 Aol

GSTIN? 2?
(A) It is 15 digit and letter code. (A) I8 TP 15 3iF g R BT DS T |
(B) Its First 2 digits are the state code. (B) 3® W 2 3fd T BT HIS 8 © |
(C) It contains the PAN Card number of the (C) sTd Ffdd I FII & U9 Ple TR
individual or business. THIRT B § |
(D) It is a 16 digit and letter code. (D) I8 TP 16 3P TG 3R & BIS T |
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81. |n which year ‘Chief Minister Raj Neer Scheme’ 81 /oI # Al o1 IR AroHT fhe 9y
was declared in Rajasthan? T F TS?
(A) 2019 (B) 2020 (A) 2019 (B) 2020
(C) 2021 (D) 2015 (C) 2021 (D) 2015
82. HPCL Rajasthan Refinery Ltd. is a joint venture 82 Tadidiga. IovemE Regw fofics,
between Hindustan Petroleum Corporation %Tg'?\_ﬂ:f YeforaH Hiafle forfee
Limited (HPCL) and government of Rajasthan .
with an equity participations of - (Wlﬂﬁq?’[) T RTORATT \RPR @ 7 fapa
(A) 72% and 28%  (B) 68% and 32% SRS rfieTd @1 R Ser 87
respectively respectively (A) HHEI: 72% U4 28% (B) P 68% Td 32%
(€) 56% and 443 (D) 74% and 26% (C) T 56% TG 44% (D) FHHT: 74% Td 26%
respectively respectively
83. At which level of Panchayati Raj a “Sathin” is 83 Tamill I @ 69 WR R TS A" BT
selected as an ‘Honorary Woman Worker” for o9 Afeet fAe™ sRdmal & forw =\
women development programmes? qfEell BRIGdr & w4 § {har ordr 87
(A) zila — Parishad (B) Panchayat — Samiti (A) RrarT—aRug (B) gamrad—afafa
(C) Block level (D) Gram — Panchayat (C) =it R (D) UTH—U=Id
84. From which district of Rajasthan, the Heli- 84 oial UdeH & oy, Tell—dM Aol dadeiidh
Borne survey technique for ground water BT YRY IoRAE b b Rt § fear
management has been launched? g7
(A) Bharatpur (B) Jodhpur (A) HRAYR (B) SITEgR
(C) Kota (D) Jaipur (C) @reT (D) STIqR
85. In Rajasthan the major districts of maize 85 <IGRUM H HadT dI WA b ygE el
cultivation are - g -
(A) Baran, Jalore and Pratapgarh (A) 9T, SR 3R JATITe E
(B) Chittorgarh, Banswara and Bundi (B) fRrilsiTe, araareT 3R §al
(C) Banswara, Pali and Sirohi (C) giTareT, UTell 3R RRIE!
(D) Baran, Kota and Jhalawar (D) 9T, BIcT AR SIS
86. Where will the ‘Khadi Plaza’ be constructed by ~ 86- o< @Tdl TG UMEINT dle §RT @TQ
Rajasthan Khadi and Village Industries Board? TSI BT FATOT Bal fhar Seer?
(A) Jodhpur (B) Jaipur (A) STrRIgR (B) STIqR
(C) Bikaner (D) Udaipur (C) dpTR (D) SeayR
87. Which of the following will get irrigation 87- fyifha # ¥ fg WRad ggg uRAem 4
benefits from the Parvan Mega project? =g gfaer ferfi?
(A) 535 villages of Bundi, Kota and Baran (A) g1, Brer 3R aRT Rl & 535 wifdl @
districts (B) STeaTS, aRi 3R Bl frel & 637 wifdi
(B) 637 villages of Jhalawar, Baran and Kota _
districts i . N
(C) 637 villages of Jhalawar, Bundi and Kota ©) & 5, 81 SR pret el & 637 el
districts
(D) 535 villages of Pratapgarh, Jhalawar and (D) Ad4Te, Hiclldls AR Prer forell & 535
Kota districts aitdt 1
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88.

89.

90.

91.

92.

93.

94.

95.

What is the sectoral contribution of the Gross
State Value added by the industry sector in
Rajasthan at the basic constant (2011-12)
prices in the year 2021-22?

(A) 28.15% (B) 24.80%

(C) 26.34% (D) 32.20%

‘Utsav Bhoj Yojana’ in Rajasthan is related to —

(A) Indira Rasoi Yojna (B) Food in Night
Sheltor

(D) Mid-day Meal
Yojana

(C) Community
Marriage Scheme
Labour Bureau, Shimla releases Industrial
Labour Consumer Price Index (Base year-2016)
for which centers in Rajasthan from
September-20207?
(A) Alwar, Bhilwara,
Jaipur
(C) Jaipur, Jodhpur,
Bikaner

(B) Ajmer, Jaipur,
Bhilwara

(D) Alwar, Ajmer,
Jaipur

Who among the following was honoured with

the Nari Shakti Puraskar on

Women’s Day 20227

(A) Usha Sharma

(C) vasundhara Raje

International

(B) Batool Begam
(D) Mamta Chouhan

Who among the following ‘Padma Award —

2022’ recipient is related to Rajasthan?

(A) Shakuntala (B) Sheesh Ram
Choudhary

(C) Chandraprakash
Dwivedi

(D) Vandana Kataria

In which of these countries is the G-20 summit
proposed for the year 20237
(B) China

B
(D) India

Who was appointed as the new Chief Minister
of Tripura in May 20227

(A) Eknath Shinde (B) Biplab Kumar Deb
(C) Dr. Manik Saha (D) N. Biren Singh

In January 2022, Central Government’s ‘PM
WANI Yojana’ started in which district of
Rajasthan?
(A) Jaipur
(C) Jodhpur

(A) Indonesia
(C) Vietnam

(B) Sikar
(D) Pratapgarh

88.

89.

90.

91.

92.

93.

94.

95.

99 2021-22 ¥ IoRAE H SR &7 BT ReR
(2011-12) ®HAT W Adhel I Hed dqed H
B NG T 87
(A) 28.15%

(B) 24.80%
(C) 26.34% (D) 32.20%

RISTRATE H 'SId |IoT AIoT Hefdd 8 —

(A) EfexT g AT (B) X SRRT § Ao

(C) ATl fdare (D) frs—s et e
ST

s &RI, R, faeR—2020 9 IR &
1 dal & forg oienfire sifiel g SwiRhT
IR GAHID (MR a4—2016) STNT BT &7

(A) 3retaR, Hieraret,  (B) ST, SR,
SRR Arerarst

(©) SR, SIgR, (D) 3[R, TR,
ABR STIRR

IFRTET Afgelr g — 2022 WR, IR @0fad
REHR ¥ FrefeaRad # ¥, fe s
T 87

(A) ST 7T (B) Tt T

(C) agerT TS (D) wHaT <l

UG REPR — 2022' & IFfotRad uraiaraiait
H B oI § HafRd 87

(A) srg=aerr deRl (B) ¥iver XM

(C) TsyuaTer fgadl (D) g1 HeTRaAT

qy¥ 2023 BT W1-20 BRIR ™= = § 9
foa <o # ywanfag 27

(A) TSN (B) ==

(C) fquc=™ (D) 9Rd

H3g 2022 H, BT & ¢ gegeEl 6 g
fam rar?

(A) Ty Rig (B) fdwrg HAR <4
(C) Sf. 7ot wreT (D) U, I g

S 2022 B, D5 WROGR DI GLTH. arofy
AT BT PAR ST & e fo7et # fam
Tar?

(A) ST
(C) SirErgR

(B) IR
(D) ydamire
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96. The Ministry of Youth Affairs and Sports 96 JdT AMel 3R Wel HATET H IY 2022 HT HOR
announced the Major Dhyan Chand Khel Ratna EE Wl T REPR AT IRY BAS Bl
Award for the year 2022 to ‘Achanta Sharath 9 BT HINUT BT TS, $BT Gee fhd Wol A
Kamal’, he is related to which sports? g7
(A) Badminton (B) Chess (A) Ssfied (B) grast
(C) Lawn tennis (D) Table tennis (C) &9 21 (D) Sga1 <

97. Which is the rank of India in the recently  97- &Il €1 H, WIRI dR¥ad &I adbid 2022 H AR
released Global Hunger Index 20227 BT BT AT IET?

(A) 102" (B) 107t (A) 1024t (B) 1074t
(C) 109t (D) 110t (C) 1094t (D) 110df

98.  Which of the following Indus Valley Civilization ~ 98- g a1 |AwIaT & 59 WIS &I Gells 2022
site is included in UNESCO World Heritage list H Rl 7 favg fovraa = # enfia fear
in July 2022? g?

(A) Balathal (B) Kalibanga (A) grerere (B) el
(C) Dholavira (D) Mohenjo-Daro (C) TeTTdIRT (D) HrgSigS!

99.  Which of the following cities will host the 2025  99- 2025 favg verifea dfU=RRrT &1 Aoa™T
World Athletics Championships? =1 5 9 B9 a1 e BN
(A) Paris (B) Tokyo (A) TR (B) o
(C) Shanghai (D) Budapest (C) vrems (D) ﬂ@TW

100. There are a total of 75 Ramsar sites in India by~ 100- 3R 2022 T® 9RA H FHf 75 IAAR WA &,
August 2022, which state has the maximum 3‘@[ I gaifded TR WA A Iy 9
number of Ramsar sites? g7
(A) Uttar Pradesh (B) Himachal Pradesh (A) ITR U< (B) feHTeral uqer
(C) Tamil Nadu (D) Madhya Pradesh (C) dfdretrg (D) 7ey U

101. page fault occurs, when - 101. 95 Biee d9 BT ©, o4 —

(A) the page is present in memory (A) U1 HART ¥ HIS[E ©

(B) the deadlock occurs (B) Ssdif® BIAT © E
(C) the page is not present in memory (C) U H9RT # Al T8l ©

(D) the buffering occurs (D) %A BT &

102. \Which of the following statement is false? 102. fy § | $IF A1 $UF N 27
(A) A digitizer is an output device. (A) f$RiTeTgoR U@ 3MSeye i © |
(B) You may find pre-printed MICR characters B) T dF TP W MU USA H BU

on bank cheques. TH.3TTS 131, 38R U7 Johd ¢ |
(C) Trackball and Joystick are pointing devices (C) Shafal Tl GiIRT®, #ASH &I RS
like mouse. qfsf~e gfdaar 2 |
(D) OCR stands for Optical Character (D) 3NIM3MR. HT IAfAUTT  effficdel  dhraex
Recognition. Repfem 2 |
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103.

104.

105.

106.

107.

Consider following statements, in context of

MS-Word — 2019 keys for moving around

documents —

| : Pressing END takes you to the end of the
document.

Il : Pressing PgDn takes you down one screen.

lll : Pressing Ctrl + Home takes you to the top

of the document.

Which of the above statements are true?

(A) land I (B) Iland Il
(C) 1and Il (D) 1, 11and 1Nl
Which command will be used to display the

format cells dialog box in MS-Excel?
(A) Ctrl+ F (B) Ctrl +1
(C) Ctrl +2 (D) Ctrl +D

Second generation computers were developed
during -

(A) 1649 to 1670 (B) 1959 to 1965

(C) 1965 to 1970 (D) 1970 to 1990

Choose the set of true statements from the

following —

(1) Vinegar is an aqueous solution of 5% - 8%
acetic acid.

(2) Hydrolysis of fat gives glycerol
carboxylic acid.

(3) Teflon is used as solvent.

(4) The chemical formula of washing powder is

CaOCls.
B:

(A) 1,2 (B) 2,3
I. Information and Communication Technology

and

(€) 3,4 (D) 1,4
Read the following two statements —

(ICT) is considered as a subset of Information
Technology (IT).
II. The ‘right to use’ a piece of software is
termed as copyright.

103.

104.

105.

106.

107.

SiFgHe H U WM 9 T WE oM & foly

T, 98 — 2019 B BRIl & ded H

HUHT R R B —

| : END S99 WR 319 SfRJHC & 3id W Ugel
IERRSIR

Il : PgDn G TR ATUDHI b BhIA A1 Ul
fear Smar ® |

Il : eIt 4+ B9 (Ctrl + Home) T TR 37TUH]
STHRPHe & Y W= ggar faar o 2

SRIGT H I DI A BIF I 87

(A) T I (B) 112 1

(C) 1 gr (D) 1, 11 e i

MS-Excel § BRHC dod SN dfdd UeRid
A D ol fhd HHIS BT STANT H?

(A) Cctrl+F (B) Ctrl+1

(C) ctrl +2 (D) Ctrl+D

fgda 991 o/geRi @1 fFa IRM e

T T o

(A) 16491670 (B) 1959 1 1965

(C) 196571970 (D) 1970 1990

frafeiRed & 9 9@ doAl & W E & g9

HITT —

(1) 5% - 8% TRIfCH IFd & STl faea= al
RN Ped T |

(2) 99T & ST IUEed A FoRia IR
Praifeeldd 3 UT B 8 |

(3) YA BT SYANT fAaid & w9 § foar
ST 2 |

(4) CaOCl, IRRFT YIS &I RIS G B |

(A) 1,2 (B) 2,3
(C) 3,4 (D) 1,4
f=forRad <1 w2l &7 g —

| I R AR RIS @A) @
AT UEifTa! (E.E1) &7 FeaRIe AT STl
2l

II. fefl AidedR & SUANT & IMABR' Bl

PTYRTSS BBl STl ¢ |

Which of the above mentioned statement(s) SUYF H F DIF A /W BAT el 5 /50
is/are correct? (A) | 3R Il =T (B) 7 T | 3R AT &7 Il
A B i
(A) Bothland Il (B) Neither I nor Il (©) & Il (D) daal |
(C) 1l only (D) 1 only
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108. The resistance of a copper wire 200m long is  108. 200 #iex o4 did & TR &T TR 21 Q 2|
21Q. If its thickness (diameter) is 0.44 mm, its Ife ST Ale (@) 0.44 . €, @ g9@T
specific resistance is around - fafdre gfoRwe AU & —

(A) 1.6 X 108 Q-m (B) 1.2x10% Q-m (A) 1.6 x 10 Q-m (B) 1.2x10% Q-m
(C) 1.4x 10 Q-m (D) 1.8 x10® Q-m (€) 1.4x108Q-m (D) 1.8 x 10 Q-m

109. ... is an example of physical change. 109. Hifds gRads &1 Uh ISR T |
(A) Burning of candle (A) AHE<T BT ST
(B) Making of curd from milk (B) g& & G&I §I1 E
(C) Blackening of silverware (C) it & gl BT BTl TSI
(D) Dissolving of sugar in water (D) H1T &1 U | et

110. Which of the given enzymes is responsible for ~ 110- gy UIdH & ured & forg Iy 77 gomgAl # |
the digestion of milk protein? P [THER 287
(A) Rennin (B) Pepsin (A) 3 (B) uftas
(C) Trypsin (D) Erepsin (C) feftas (D) wfta

111. Apis florea is related to which of the  111. Ui weniRam fA=forlRaa & & foaw amfua
following? g7
(A) Honey Bee (B) Silk warm (A) AR (B) N¥q @IT
(C) Lacinsect (D) Termite (C) o P (D) <™

112. Which one of the following is a viral disease in 112 f=faRad & & BT A1 T Ui § IRRA
animals? [T B?

(A) 3!ue tongue (B) Milk fever (A) et Rrgar I (B) fires
isease
(C) Anthrax (D) Johne's disease (€) Tt (B) it ]

113. Match List-1 with List-Il and select the correct ~ 113- JAI—I &1 FeE—II A FHferd BT iR 1 g

answer by using the code given below - ¢ hHS DI STANT R el ST gﬁm -

List -1 List — Il T — | & —

(a) Hydrogen bomb (1) Fission (a) BTSSIo 99 (1) fawvs

(b) Atom bomb (2) Fusion (b) TRATY] §H (2) Gorad

(c) Binding energy (3) Critical mass (c) d&9 Fofl (3) HIfdd SIAT

(d) Nuclear reactor (4) Mass defect (d) TRET ﬂ?,’?ff (4) S afy

Code - @He —

(A) (a) - (1), (b) = (2), (c) — (4), (d) - (3) (A) (a) - (1), (b) = (2), (c) - (4), (d) - (3)

(B) (a) - (1), (b) = (2), (c) = (3), (d) = (4) (B) (a) - (1), (b) = (2), (c) = (3), (d) - (4)

(C) (a) = (2), (b) = (1), (c) = (4), (d) = (3) (©) (a) = (2), (b) = (1), (c) = (4), (d) = (3)

(D) (a) = (2), (b) = (1), (c) = (3), (d) - (4) (D) (a) - (2), (b) = (1), (c) = (3), (d) - (4)
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114.

115.

116.

117.

118.

119.

What is formed in the reaction of sodium
hydroxide with zinc?

(A) Zinc hydroxide and hydroxide gas

(B) Zinc hydroxide and sodium

(C) Sodium Zincate and hydrogen gas

(D) Sodium Zincate and water

What is the percentage of Photosynthetically
Active Radiation (PAR) that is captured by the

plants?
(A) 2-5% (B) 2-15%
(C) 5-10% (D) 2-10%

If Sohan, while selling two goats at the same
price, makes a profit of 10% on one goat and
suffers a loss of 10% on the other, then which
of the following is true?

(A) He makes no profit and no loss
(B) He makes a profit of 1%

(C) He suffers a loss of 1% E

(D) He suffers a loss of 2%

Average of all even numbers between 320 and
350 is -

(A) 335 (B) 332
(C) 330 (D) 325
Area of a rectangular field is 300 sq. meter. If

length of its diagonal is 25 meter, then the
perimeter of this field is -

(A) 70 meter (B) 80 meter

(C) 90 meter (D) 84 meter

If the simple interest for 5 years be equal to
20% of the principal amount, then it will be
equal to the principal amount -

(A) in 25 years (B) in 20 years

(C) in 15 years (D) in 10 years

114.

115.

116.

117.

118.

119.

i & a1 Afedd gssiadss & Ifafhar
A T g1 2°

(A) NS BsSiss 3R eSS 4

(B) Nip BsSiadss 3R AIfsaHd

(C) ifsTH Ride iR TR 14

(D) IifsTw Ride 3R il

JHIINizeyl U ¥ by fafexor (fgem) &1
foaar ufoera diei g1 UEOr fhar Sirar
g7

(A) 2-5% (B) 2-15%

(C) 5-10% (D) 2-10%

Ife Aigd, a1 HRAT BT T oI TR deaw,
TH IHY W 10% BT A HACT & AR TR
TR 10% 1 B YIaar &, df e # I Pl
g g7

(A) 98 9 AT o™ HHAAT 2 AT &1 B

(B) a8 1% BT &M HHATCT &

(C) S 1% ! &I BI<H &

(D) I 2% HI B BT &

320 9T 350 & &g HI FHI FH AR Bl
3iad © —

(A) 335 (B) 332

(C) 330 (D) 325

Uh JMAATHR HEH BT &%l 300 T Hex 8
afe fadwol @ "9 25 Hiex &, d HeM @l
aRemg & —

(A) 70 Hrex (B) 80 Hiex

(C) 90 Hrex (D) 84 #ex

I 599 FH ARRYT A, Ja&T S 20% B

RIR &, Al I§ oo S IRIER 8 ST —
(A) 25 98T H (B) 20 9§t #

(C) 1599t # (D) 10 9yt &
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120.

121.

122.

123.

124.

If the income of x is 10% more than that of y
and the income of y is 20% less than that of z,
then the income of x, y and z respectively are

in the ratio -

(A) 10:9:7 (B) 11:10:8

(C) 22:20:25 (D) 22:18:25

In a certain code language, “479” means “fruit
is sweet”, “248” means “very sweet voice” and
“637” means “eat fruit daily”. Code for “is” is
equal to -

(A) 4 (B) 7

(€) 9 (D) 6

Two different positions of a die is shown below.
Which number will appear on the face opposite
to5?

1 6
3
4 2 2
I Il
(A) 1 (B) 2
(€ 3 (D) 6
How many triangles are there in the given
figure?
N
L
(A) 14 (B) 15
(C) 16 (D) 17
‘A’ walks 10 m towards East and then 10 m to

his right. Then every time turning to his left, he
walks 5, 15 and 15 m respectively. How far is he

now from his starting point?

120.

121.

122.

123.

124.

Ife x B AT, y B T F 10% 31D & qAT v
PY I, z DT T F 20% HH ©, Al X, y TAqT 2

BT ITUTIS T HA: § —
(A) 10:9:7 (B) 11:10:8
(C) 22:20:25 (D) 22:18:25

e ¥ed e Wi H “479” &1 31 “fruit is
sweet” ¥, “248” BT 31 “very sweet voice” §

R “637” BT 31 “eat fruit daily” & 1 “is” T

HT W & —
(A) 4 (B) 7
(€) 9 (D) 6

Th g Bl fafr= Refodt i fearg 18
215 fRId Bald W BT — T 3id s
TP

1 6
3
s |2 2
| I
(A) 1 (B) 2
€) 3 (D) 6 E
&1 g Jrpia H fha Bryot €7
N\
7
(A) 14 (B) 15
(€) 16 (D) 17

‘A’ 10 HieR gd BT AR Ferdl & 3R bR 10
Hrex 3o SR} QIR SfraT €1 e &% 9 3o
IRl 3R HeHR, 98 HHL: 5, 15 3R 15 e
T €| 319 I8 3199 YRS I o fhae

R 87
(A) 10m (B) 15m N §
© o) (A) 10 4. (B) 15 .
20 5
m m (©) 207 (D) 54,
131C (éd Page 19 of 24



125. A, B, C, D, E and F are sitting in a row. Eand ~ 125- A B, C, D, E3IR FU® Ufdd # 98 U & | E3IR
F are in the centre, A and B are at the ends, Cis Fo< (Fed) H 9 €, AR BBRI WX &9 &,
sitting on the left of A. Who is sitting on the C,A & 9rfi 3R 93T 81 B & SR IR dIF
right of B? Ers)| gl 27
(A) D (B) F (A) D (B) F
©E (D) A (C) E (D) A

126. |f ‘CEG’ is written as ‘TSR’ and ‘FH) is writtenas ~ 126. Jf& ‘CEG’ &I ‘TSR’ Ud ‘FH) &I ‘QPO’ foram
‘QPO’, then ‘IKM’ is written as - SITAT 8, dl‘IKM’ &1 {5 UeR forar Sire?
(A) NOL (B) NOM (A) NOL (B) NOM
(C) NML (D) MLN (C) NML (D) MLN

127. Umang said to Uma — “You are wife of the  127- IHIT 5 IAT Bl del — A W AT & UH B
grandson of my mother”. Who is Umang to gl BT | SHET BT SH A T e 87
Uma? (A) foar (B) ufay
(A) Father (B) Husband (C) IR (D) <TeT
(C) Father-in-law (D) Grandfather

128. Here, a statement is followed by two  128- €i & w9 & uvalq & d& |qunfed g
arguments | and Il are given. You have to decide ey Af¥ad &A1 & 5 o9 /99 db
which of the argument/arguments is/are a T T g PEAT 9B PEGN |
‘strong’ argument and which is a ‘weak’ FOH : T AN ERT ST BT TS S
argument. ‘ AR
Statement : Should income tax be evaded by L _

oeople? q® : I.g], R S Bﬁ[(%l.
Arguments : |. Yes, Taxes are excessively high. I e, FE P SRIFH P FIferd
IIl. No, it will hamper the welfare F |
programmes. (A) Ife Baet T | FOTGT &
(A) If only argument | is strong (B) IfE waal Td 11 Aod &
(B) If only argument Il is strong E (©) afe @Y | o 1 FoTgd &
(C) If both | and Il are strong ©) 4t 5 <l 1 & 5
(D) if neither I nor Il is strong g

129. The next term of the following number series  129. fa=feiRaa wxem sioft &1 3FTelr Ug © —

Is = 2,12, 36, 80, 150, .... ?

2,12, 36, 80, 150, ... ? (A) 210 (B) 252
(A) 210 (B) 252

(©) 258 (D) 270 (C) 258 (D) 270

130. |f (+) means (X), (=) means (+), (X) means (=) 130. gfe (+) &1 @1ef (), (=) BT 31l (+), (x) BT 3ref
and (=) means (<), then the value of (-) 3R (-) @1 A (+) 7, ar
124 +32-8+2x11isequalto - 124 +32-8+2x 11 HT HF SRER & —

(A) 120 (B) 121 (A) 120 (B) 121
(C) 132 (D) 144 (C) 132 (D) 144
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131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

fra fdwey & veg a1 9 e Suaw | AT 87

(A) sreaads, RIS (B) yrar, AeTIHfT

(C) gRega«Ty, AHGTERYI (D) yfcrare, 3rerar

A o1 gfte | FIq b &1 =T iy —

(A) fagy + g1 = fAenfer (B) &N + Sfua = Eifad

(C) T® + IUCT = THUGT (D) 31&r: + 9ad = 3ferTad

FAfTT BT —

(i) ol R () W © B I

(i) & wR @) oms &V

(iii) sreugror =s4 - (M) 3, 8, G, E

(iv) ey o @) 3,393

A (i)—(), (ii)—(m), (iii)—(@), (iv)—(®) ® (i)—@), (ii)—(=), (iii)=(). (iv)—(
© (i), (ii)—(=), (iii)—(@). (iv)—(®) ®) (i)—(@), (ii)—(=), (iii)—(=), (iv)—(m)
IMYE TR BT TG DY —

(A) <371 TEIGT BT HaT AN I | (B) oIS 9T 91 BTF dMUN @l 3T |
(C) O 7 & T au foar | (D) Jg B S FIT &7

o fdwed & 1 wreq ‘3G @& qAErEl 87

(A) g, Urd, diwra (B) M@, derd, UIdrR

(C) 3vig, Iefer, F<reT (D) <<r=I, grrReT, R

A — faus @1 gfe | o/ wd f[Aden gfg —

(A) T=Mmed — Q9T ¥ 3ed (B) SaR — [ Siad

(C) drwiad — Sfard & ST (D) IR — Hrod & fory

IAFRM g & YA & Hde H DT BT TT 87

(A) 9aTfieR® ¥ ¥e&T WX 9o < @ forg |

(B) SUdTaRil BT 31T B & folv |

(C) B3l T2 Bl T HRA BT Fhd HRA D fo10 |

(D) 3if¥ared, |AME, adl, f3ie onfe § ¥+ A fvae & d918 # |

fre fawea 3 IIT faai™ g &1 yanT garm 27

(A) Sifed — g (B) ®dpe — R

(C) &Yy — o (D) fraRl — amawad

ARG faRvor &7 vt foa fadwed § gar &7

(A) ofTeT ¥l TR A8y | (B) g & B TS AV T |

(C) g8 ©x 3nfl 91 2 | (D) T3 AN FARIE # 1 W& ¥ |
1 H ¥ e I | Ao a1 &1 TART 8o &7

(A) & oI &1 H IS @ ¢ | (B) TEHT W@ReY & foly 3resT 7 |

(C) #IqfH & forg w17 91 2| (D) gfeT 7 @R & 91 AR AR |
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141.

142.

143.

144.

145.

Direction (141 to 143) : Read the passage carefully and answer the following questions —

But before | could be inspired by these amazing people, | had to cleanse my feed. | know my
weaknesses: just last week, Facebook memories reminded me of a pizza party I'd had two years
ago and | ended up ordering a chicken dominator, with garlic breadsticks and an jalapeno cheese
dip. So much for Day One of Couch to 5K training. | stayed right on that couch. So far I've
unfollowed Buzzfeed Tasty, TasteMade (even their adorable Tiny Kitchen) and several people who
have the enviable advantage of being able to eat as much as they want and not put on weight. By
my calculations, dark chocolate is healthy. So I'm still following Earth Loaf. Pascati and Mason &
Co.

When | finally found a gym | liked with the best trainers | have had, | unabashedly shared my
workouts every day. From shying away from full-length pictures, | reached a point where | could
share videos of myself deadlifting and doing back squats with a barbell across my shoulders. It
gave me accountability.

Which of the following is a page related to chocolate?

(A) Earth Loaf (B) TasteMade

(C) Buzzfeed Tasty (D) Tiny Kitchen

Which of the following word in the passage means ‘very desirable’?

(A) inspired (B) enviable E
(C) adorable (D) cleanse

The word with the meaning opposite to ‘shamefully’ in the passage is -
(A) shying (B) enviable
(C) weaknesses (D) unabashedly

Choose the alternative which best expresses the meaning of the underlined idiom/ phrase —

The winning team decided to go for the jugular in the last quarter of the match.

(A) forfeit the match (B) attack all out
(C) give reserve players a chance (D) give easy opportunities to the opposite
team

What is ‘Pseudonym’ in letter writing?
(A) Name of the Editor (B) Legal name

(C) Fictitious name (D) Real name
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146.  Fill in the blank space with the correct determiner —
..................... friends he has are sincere.
(A) The little (B) None

(C) The few (D) Much

147.  Match the sentences in the Column (A) with appropriate prepositions in Column (B) —

Column (A) Column (B)
(Sentences) (Prepositions)
(a) The train met ......cccceneeeee. an accident. (i) for
(b) Such an idea would never occur ................... me. (i) in
(c) He has been in this office ........cccceeeveuene. a year. (iii) with
(d) Wise people do not believe ................. superstitions. (iv) to

(A) (a) - (iii), (b) = (iv), (c) = (i), (d) — (i) (B) (a) — (i), (b) = (i), (c) = (iv), (d) = (i)
(©) (a) - (i), (b) = (i), (c) = (i), (d) — (iv) (D) (a) = (iv), (b) = (i), (c) = (i), (d) - (ii)

148.  Fill in the blank space with the correct phrasal verb from the given options —

The meeting was ................ because of bad weather.
(A) called back (B) called off
(C) call back (D) called in

149.  Choose the correct English translation of the given sentence —
# oy PR A T R A TR A T oiR W SR e &
(A) | take out my shoes and socks before | enter my room.
(B) 1take off my shoes and socks while entering my room.
(C) Itake off my shoes and socks before entering my room.
(D) 1take out my shoes and socks at the time of entering my room.
150.  Choose the most appropriate option —
Ashin said, “Shall | ever win a gold medal?” (Change into Indirect Speech)

(A) Ashin asked if he shall ever have won a gold medal.
(B) Ashin said that shall he ever won a gold medal.
(C) Ashin exclaimed if he shall ever win a gold medal.

(D) Ashin wondered if he would ever win a gold medal.
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Space for Rough Work/ X% i ® fow SFT”

B:

IR UFS H & Uil & — Jot ufa &R fgaiia ufd, oxienm aarftq ok a_lern ®er sis A qd udlend IR
TP D QT Uil et B A, wenedl wd fgefig ufd B1 o T8 B | dleth gR1 SR D B
Aol Ul BT 310 9T OFT %, fgdla ufd & g Ufd 9 @ S 9 Al B ATGIgdd T B
otetredl 1 W | oNerrell fedia Ui 1 3o wrer of i |
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